1. REEERITINL (B4 FO6H D)

xtbAE | XtRs xS AEH &8 (M)
6H2H PR | REREE FE-SHRADHF () 5,000
68338 TOft  |REBEREBERASKISGEMSTHE 2,000
6H3H ZTOft | RERBEASHRS RBRASRIITERSE 6,480
68310H TOft | RERASHRSRELSE 2,500
6810H T (HTmREERZRSE OmKOH 2,700
68315H =8 |WHTELIESEHEERZRRERIBR LR DR 5,000
6822H =8 |WHALEMmEERIBRIERE O 5,000
a 3 28,680




2. % FH(PH4FER)

bRy | H(ERY) | REHER | 2EERD) | RE#

= = 2 8 10,000 39,000
- B 0 6 0 34,000
B & 1 4 5,000( 132,000
8 & W 0 0 0 0
B & 0 0 0 0
O 0 0 0 0
T D 4 4 13,680 13,680
a 5 7 22 28,680 218,680




